Puissances de Dix (I)

Trouvez chaque produit ou quotient.

549 + 10 = 9,0261 X 1 000 =
6,8934 =~ 1 000 = 8,5424 -1 000 =
8,34 x 1000 = 4,46 ~ 1000 =
8,4 +1000= 2+1000=
6,7+ 10 = 8=10=

1,7%x 10 = 9,8 +1000=
9,727 X 10 = 2,92 x 100 =
8,7673 +~ 100 = 4,2055 =100 =
6,5 % 10 = 2,99 +~ 10 =

6,8 X 10 = 2,5152 + 1000 =
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Puissances de Dix (I) Solutions

Trouvez chaque produit ou quotient.

5,49 - 10 = 0,549

9,0261 x1000=9026,1

6,8934 =1 000 =0,0068934 8,5424 -1 000 = 0,0085424

8,34 x 1000 =8 340

8,4+ 1000=0,0084

6,7+ 10=10,67

1,7x10=17

9,727 x 10 = 97,27

8,7673 - 100 =0,087673

6,5 X 10 = 65

6,8 X 10 =68

4,46 =1 000 = 0,00446

2-+1000=0,002

8+10=0,8

9,8 +1000=0,0098

2,92 x 100 =292

4,2055 + 100 = 0,042055

2,99 +-10=0,299

2,5152 +1000=0,0025152
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